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	1.
	NO
	STD
	LOG
	M1


M1



M1
A1
	

	
	72.56
0.64

1.845



2.390
	7.256X101
6.4X10-1

1.845X100



2.390×100
	1 .8607
 .8062
	
	

	
	
	
	1.6669
0.2660×2
0.5320
	
	

	
	
	
	1.1349×
0.3783

	
	

	2.
	X+X+2+X+4=219
3X=213
X=71

71,73,75
	M1

M1

A1
	

	3.
	a) 100000x77.24
Ksh. 7724000

b) 
=63171.669 sterling pound
	M1
A1

M1
A1
	

	4.
	X3.142X25X12
=314.2cm2
314.2= 3.142Xr3
  r3=75
r=4.217cm
S.A =4x3.142x4.1422
=223.52cm2
	M1
M1

M1



A1
	

	5.
	 

=42
	M1

A1
	

	6.
	6x2-13x+6=0
-9,-4
6x2-4x-9x+6=0
2x(3x-2)-3(3x-2)=0
X=  or x=
	
	M1

M1

A1

	7.
	4X X 
 
	
	M1
A1

	8.
	
NO
	
STD 
	
LOG
	 M1

M1


A1
	

	
	11.45
Sin38.3

7.096
	1.145x101


7.096x100
	1.0588
 .7922
	
	

	
	
	
	0.8510
	
	

	
	
	
	
	
	

	9.
	185.1=9x0.5Xa2sin40
 =a2

575.93=a2
A=8cm
	M1
M1


A1
	

	10.
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Below are the measurements of a wheat field using a baseline XY recorded in metres
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13. The figure below shows a glass in form of a frustum of a cone whose top and bottom diameter

er of

7em and 3.5cm respectively. Its depth is 10cm. Taking T = ¥

7cm

\ 35c7

Calculate; \\ /

a) Its total surface area.z &
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ﬂle final position of the
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' 1. The figure below shows two intersecting circles with centres P and Q and radius Scm for the
small one and 6cm for the big one.

AB is a common chord of length 8cm. Calculate;

(a) the length of PQ (1 mark)

7k
5462 F 81 om
(b) the size of;
(i) angle APB  (2marks)
g = e o
hozk L hPg = 19636
9=an (09
g~ 52 10
(ii) angle AQB (2 marks) ,
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(c) the area of the shaded region(5 marks)
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